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prol.f READ WRITE LOOP
LOOP

C **VECTOR NO WA**
DIMENSION A(8),B(8),C(8)
C
WRITE(*,100)
100 FORMAT(1H ,'VECTOR A(l) (F5.1)")
DO 5 1=1,8
READ(*,110) A(l)
110 FORMAT(F5.1)
5 CONTINUE

WRITE(*,120)
120 FORMAT(1H ,'VECTOR B(l) (F5.1)")
DO 15 1=1,8
READ(*,130) B(1)
130 FORMAT(F5.1)
15 CONTINUE

C
DO 10 1=1,8
Cc()=A(1)+B(I)

10 CONTINUE

C

WRITE(*,200) (C(1),1=1,8)

200 FORMAT(1H1,5X,"VECTOR A(1)+B(1)',8F5.1)
STOP
END



pro2.f READ WRITE

C **VECTOR NO WA**

C
DIMENSION A(8),B(8),C(8)
CHARACTER*20 AFILE,BFILE

WRITE(*,100)
100 FORMAT(1H ,'INPUT DATA FILE NAME')
C
READ(*,110) AFILE
110 FORMAT(A20)
C
WRITE(*,120)
120 FORMAT(1H ,'OUTPUT DATA FILE NAME')
READ(*,110) BFILE

OPEN(2,FILE=AFILE,STATUS='OLD',FORM="FORMATTED)
OPEN(3,FILE=BFILE,STATUS="NEW',FORM="FORMATTED)

READ(2,130) (A(1),1=1,8)
130 FORMAT(8F5.1)
READ(2,130) (B(1),1=1,8)

C
DO 10 1=1,8
Cc()=A(1)+B(I)

10 CONTINUE

C

WRITE(3,200) (C(1),1=1,8)
200 FORMAT(1H1,5X,'VECTOR A(1)+B(l)',8F5.1)
CLOSE(2)
CLOSE(3)
STOP
END



C

C

C

pro3.f
**MATRIX NO WA**
DIMENSION A(10,10),B(10,10),C(10,10)
CHARACTER*20 AFILE,BFILE

WRITE(*,100)

100 FORMAT(1H ,'INPUT DATA FILE NAME')
READ(*,110) AFILE

110 FORMAT(A20)

WRITE(*,120)
120 FORMAT(1H ,'OUTPUT DATA FILE NAME))
READ(*,110) BFILE

OPEN(2,FILE=AFILE,STATUS='OLD'FORM="FORMATTED)
OPEN(3,FILE=BFILE,STATUS="NEW',FORM="FORMATTED)

READ(2,130) N
130 FORMAT(I5)

READ(2,140) ((A(1,J), J=1,N ), 1=1,N)
140 FORMAT(1H ,9F5.1)

READ(2,140) ((B(1,J), J=1,N ), 1=1,N)

DO 10 I=1,N
DO 20 J=1,N
C(1,9)=A(1,3)+B(1,J)
20 CONTINUE
10 CONTINUE

WRITE(3,200)

200 FORMAT(1H1,5X,'A(1,3)+B(1,J)")
DO 15 I=1,N
WRITE(3,210) (C(1,J),J=1,N)

210 FORMAT(5X,3F5.1)

15 CONTINUE

CLOSE(2, STATUS='"KEEP’)
CLOSE(3, STATUS='KEEP)
STOP
END



pro4.f

C **MATRIX NO SEKI**

C
DIMENSION A(10,10),B(10,10),C(10,10)
CHARACTER*20 AFILE,BFILE

WRITE(*,100)
100 FORMAT(1H ,'INPUT DATA FILE NAME')
C
READ(*,110) AFILE
110 FORMAT(A20)
C
WRITE(*,120)
120 FORMAT(1H ,'OUTPUT DATA FILE NAME')
READ(*,110) BFILE

OPEN(2,FILE=AFILE,STATUS='OLD'FORM="FORMATTED)
OPEN(3,FILE=BFILE,STATUS="NEW',FORM="FORMATTED)

READ(2,130) N
130 FORMAT(I5)

READ(2,140) ((A(1,J), J=1,N ), 1=1,N)
140 FORMAT(9F5.1)

READ(2,140) ((B(1,J), J=1,N ), 1=1,N)

DO 10 I1=1,N
DO 20 K=1,N
C(1,K)=0.0
DO 30 J=1,N
C(1,K)=A(1,9)*B(J,K)+C(1,K)
30 CONTINUE
20 CONTINUE
10 CONTINUE
C
WRITE(3,200)
200 FORMAT(1H1,5X,'A(1,3)*B(1,J)")
DO 15 I1=1,N
WRITE(3,210) (C(1,J),J=1,N)
210 FORMAT(5X,3F5.1)
15 CONTINUE
CLOSE(2)
CLOSE(3)
STOP
END



pro5.f IF EOF

C
C
CHARACTER JFILE*20,IFILE*20
DIMENSION C(100),D(100)
C
WRITE(*,100)
100 FORMAT(1H ,'INPUT DATA FILE NAME =)
READ(*,200) JFILE
200 FORMAT(A20)
C
WRITE(*,300)
300 FORMAT(1H ,'OUTPUT DATA FILE NAME =)
READ(*,200) IFILE
C
OPEN(1,FILE=JFILE,STATUS='OLD',FORM='"FORMATTED')
OPEN(2,FILE=IFILE,STATUS='"NEW',FORM='"FORMATTED')
C
1=0
550 1 =1+1

READ(1,500,END=1000) C(1)
WRITE(*,500) C(I)
C WRITE(2,500) C(1)
500 FORMAT(F7.1)

GO TO 550
1000 CONTINUE
C
C NUMB:

NUMB =1-1
C

ADDC =0

DO 2500 L=1,NUMB
ADDC = C(L) + ADDC
2500 CONTINUE
C
AVER = ADDC/NUMB
C
ADDD =0
DO 2600 K=1,NUMB
D(K) = ( C(K)-AVER )**2
ADDD = D(K) + ADDD
2600 CONTINUE
C
BUN = ADDD/NUMB
SD = SQRT(BUN)



CALL MINMAX(NUMB,C)

WRITE(*,4500) C(1),C(NUMB),AVER, SD
WRITE(2,4500) C(1),C(NUMB),AVER, SD
4500 FORMAT('Min=',F9.3,1X,'Max=',F9.3,1X,'Ave=',F9.3,1X,'SD=",F9.3)
C
CLOSE(1)
CLOSE(2)
STOP
END
C
C*************************************************
SUBROUTINE MINMAX(KOSU,B)
REAL B(10000)

N=KOSU
DO 80 1=1,N-1
DO 90 J=1+1,N
IF(B(1).LT.B(J)) GO TO 90
D1=B(l)
B(1)=B(J)
B(J)=D1
90 CONTINUE
80 CONTINUE
C
C DO 100 1=1,KOSU
C WRITE(2,110) B(1)
C 110 FORMAT(F5.2)
C 100 CONTINUE
RETURN
END



pro6.f EQUIVALENCE

CHARACTER*20 AFILE,BFILE

DIMENSION DAT(1000,10)

DIMENSION 1Y(1000),1D(1000),1H(1000),ISE(1000),SA(1000)
CHARACTER LINE(140),LINE2*140
EQUIVALENCE(LINE(1),LINE2)

WRITE(*,150)

150 FORMAT(1H ," Input data file name =)
READ(*,155) AFILE

155 FORMAT(A20)

C

WRITE(*,180)

180 FORMAT(1H ,'Output data file name =)
READ(*,155) BFILE

OPEN(1,FILE=AFILE,STATUS='OLD'FORM="FORMATTED)
OPEN(2,FILE=BFILE,STATUS="NEW'FORM="FORMATTED)

K=0
600 K=K + 1
READ(1,700,END=1000) LINE
700 FORMAT(140A1)

READ(LINEZ2,900) 1Y(K),ID(K),IH(K),(DAT(K,1),1=1,8)
900 FORMAT(10X,12,1X,12,1X,12,6X,8(E14.5))
ISE(K) = 1Y(K)*720+1D(K)*24+1H(K)
SA(K) = REAL( ISE(K) - ISE(1))

IF(SA(K).EQ.0.0) GO TO 920

SA(K) = SA(K)/24

GO TO 925
920 SA(K) = 0.0
925 WRITE(2,950) SA(K), (DAT(K,1),1=1,8)
950 FORMAT(F5.1,8(F7.2))

GO TO 600
C
1000 CONTINUE
CLOSE(1)
CLOSE(2)
C
STOP
END



pro7.f

CHARACTER*20 AFILE,BFILE

DIMENSION HTIME(4000),HTEMP(12,4000),CALTEMP(12,4000)
DIMENSION CALH1(12),CALH2(12)

CHARACTER LINE(120),LINE2*120
EQUIVALENCE(LINE(1),LINE2)

WRITE(*,150)
150 FORMAT(1H ,'INPUT DATA FILE NAME =)
READ(*,155) AFILE
155 FORMAT(A20)
C
WRITE(*,157)
157 FORMAT(1H ;' = (12))
READ(*,158) KOSU
158 FORMAT(12)
C
WRITE(*,160)
160 FORMAT(1H ' = (12)")
READ(*,170) INCR
170 FORMAT(12)
C
WRITE(*,180)
180 FORMAT(1H ,/OUTPUT DATA FILE NAME =)
READ(*,155) BFILE

C
OPEN(1,FILE=AFILE,STATUS='OLD'FORM="FORMATTED)
OPEN(2,FILE=BFILE,STATUS="NEW'FORM="FORMATTED)
C
N=-1
350N=N+1

WRITE(*,230) N
230 FORMAT(LH+,***** Number of Input Data *****' |5)
READ(1,200,END=1000) HTIME(N), (HTEMP(J,N), J = 1, KOSU )
C WRITE(*,200) HTIME(N), (HTEMP(J,N), J = 1, KOSU )
200 FORMAT(F9.1,10F7.2)

GO TO 350
1000 CONTINUE
C
HTIM = HTIME(N-1)
LATTEM = INT(HTIM)
C
N=0
J=0

1600N=N+1
FF =N *INCR



15003 =J+1
IF(HTIME(J).LT.FF) GO TO 1500
CALT1 = HTIME(J) - HTIME(J-1)
CALT2 = FF - HTIME(J-1)
CALT3 = CALT2/CALT1
DO 1800 LL =1, KOSU
CALH1(LL) = HTEMP(LL,J) - HTEMP(LL,J-1)
CALH2(LL) = CALT3 * CALH1(LL)
CALTEMP(LL,N) = HTEMP(LL,J-1) + CALH2(LL)
C WRITE(2,1550) CALT1,CALT2,CALT3,CALH1(LL),CALH2(LL),CALTEMP(LL,N)
C1550 FORMAT(6(2X,F10.3))
1800 CONTINUE
IF( FF.EQ.LATTEM) GO TO 1700
GO TO 1600
1700 CONTINUE
C
WRITE(*,2230)
2230 FORMAT(1H ,"***** Writing Data (After Arrange) *****")
TIMEX =0
C WRITE(*,1900) TIMEX, (HTEMP(J,0), J =1, KOSU )
WRITE(2,1900) TIMEX, (HTEMP(J,0), J =1, KOSU)
DO 1950 L =1, N
TIMEX = L*INCR
C WRITE(*,1900) TIMEX, ( CALTEMP(J,L), J =1, KOSU )
WRITE(2,1900) TIMEX, ( CALTEMP(J,L), J =1, KOSU)
1900 FORMAT(F9.1,10F7.2)
1950 CONTINUE

C
CLOSE(1)
CLOSE(2)

C
STOP
END
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pro8.f

C

C = f'c(t) = (t/a+bt)f'c(91)

C f'c(91)*Y = aX+b ( X=1/t,Y=1/f'c(t) )

C
CHARACTER AFILE*20,BFILE*20
DIMENSION JZAI(5),COM(5,3),CCOM(5)
REAL B(5),A(5,5),X(5),Y(5),ZA1(5),XX(5),ZXY(5)

C

WRITE(*,5000)
5000 FORMAT(1H ,'INPUT DATA FILE NAME =)
READ(*,5100) AFILE
5100 FORMAT(A20)
C
WRITE(*,5200)
5200 FORMAT(1H ,'OUTPUT DATA FILE NAME =)
READ(*,5100) BFILE
C
OPEN(L,FILE=AFILE,STATUS='OLD',FORM='"FORMATTED")
OPEN(2,FILE=BFILE,STATUS='"NEW',FORM='"FORMATTED")
C
READ(1,5300) MPTS
5300 FORMAT(12)
WRITE(*,5400) MPTS
5400 FORMAT(1H ,12)
C
DO 100 K=1, MPTS
READ(1,5500) JZAI(K)
5500 FORMAT(12)
WRITE(*,5400) JZAI(K)
C
READ(1,5600) COM(K,1) , COM(K,2) , COM(K,3)
5600 FORMAT(3F8.2)
WRITE(*,5700) COM(K,1) , COM(K,2) , COM(K,3)
5700 FORMAT(1H ,3F8.2)

C
100 CONTINUE
C
X1=0
Y1=0
XY=0
C
DO 200 K=1, MPTS
C

WRITE(2,5020)

5020 FORMAT(lH '******************************************')
’
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C
WRITE(2,5900) JZAI(K)

5900 FORMAT(1H , 12" )
C
WRITE(2,5950) COM(K,1) , COM(K,2) , COM(K,3)
5950 FORMAT(1H ' No.1 =',F7.2,2X,'No.2 =',F7.2,2X,'No.3 =',F7.2)
C

ZAI(K)=REAL(JZAI(K))

X(K)=1/ZA1(K)

X1=X(K)+X1

XX (K)=X(K)*X(K)

X2=XX(K)+X2
CCOM(K)=(COM(K,1)+COM(K,2)+COM(K,3))/3
Y (K)=1/CCOM(K)

Y1=Y(K)+Y1

ZXY (K)=X(K)*Y(K)

XY=ZXY (K)+XY

C

WRITE(2,7000)
7000 FORMAT(1H ' 1/ 1/ D)
C

WRITE(2,7100) X(K),CCOM(K),Y(K)

7100 FORMAT(1H ,F12.8,3X,F12.3,2X,F12.8)
WRITE(2,7200)

7200 FORMAT(1H ,'X1=(1/ ) Y1=(1/ )
WRITE(2,7300) X1,Y1

7300 FORMAT(1H ,F12.8,7X,F12.8)
WRITE(2,7400)

7400 FORMAT(1H ,' (X1*X1) (X1*Y1)
WRITE(2,7500) X2,XY

7500 FORMAT(1H ,F12.8,4X,F12.8)

C
200 CONTINUE
C
M=2
B(1)=CCOM(MPTS)*XY
B(2)=CCOM(MPTS)*Y1
C

WRITE(2,6020)

6020 FORMAT (LH | ¥ tssbsbkserdd kkdekdd ko kdekdd ke kdokd Ak ok
WRITE(2,6050)

6050 FORMAT(1H ,'S (X~2)a + 2 (X)b = = (XY)')
WRITE(2,6060) X2,X1,B(1)

6060 FORMAT(1H ,F12.8,1X,'a +',F12.8,1X,'b = ',F12.8)
WRITE(2,6070)

6070 FORMAT(IH , =(X)a + nb = 3(Y))
WRITE(2,6080) X1,MPTS,B(2)
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6080 FORMAT(1H ,F12.8,1X,'a +',1X,18,4X,'b = ',F12.8)
WRITE(2,6090)
6090 FORMAT (LH |3k sokbokkdeok dok ko k ok ok kokok ok Aok ok Aok Aok k)
C
A(1,1)=X2
A(1,2)=X1
A(2,1)=X1
A(2,2)=MPTS

F*hhkkhkhkIrhkhkkhkikhhkhkhkihhkhkkikhhkkkikikhhikikkxk

* FORWARD ELIMINATION *
R R R R e R R R R R R R R b R R R R b b
M1=2
DO 2010 I=1,M1
11=1+1
DO 2020 J=11,M
AA=A(J, /AL
B(J)=B(J)-AA*B(l)
DO 2030 K=11,M
A(J,K)=AJ,K)-AA*A(I,K)

2030 CONTINUE

2020 CONTINUE

2010 CONTINUE

o000

dhkhkkhkhkkrkhkkkkhkhkhkhkkhkkhhkhkhkkhkhkhkikihhkikikhkikikk

* BACKWARD SUBSTITUTION *
B R R R R R R R R R R R R R R R R R e R R R e e
2060 CONTINUE
B(M)=B(M)/A(M,M)
DO 2040 K=M-1,1,-1
DO 2050 J=1,K
B(J)=B(J)-A(J,K+1)*B(K+1)
2050 CONTINUE
B(K)=B(K)/A(K,K)
2040 CONTINUE
C

Oo0O00

WRITE(2,3020)
3020 FORMAT(lH ,'******************************************')
WRITE(2,3050)
3050 FORMAT(1H ,' fc(t) = (t/a+bt)fc(91) D)
WRITE(2,3100) B(1),B(2)
3100 FORMAT(1H , a = ,F10.5,2X,' b = ',F10.5)
WRITE(2,3070)

3070 FO R MAT(l H '******************************************')
)

C
DO 8000 K=1, MPTS
CMPRS=(JZAI(K)/(B(1)+B(2)*JZAI(K)))*CCOM(MPTS)
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HICMP = CCOM(K) - CMPRS
HICMP = ABS(HICMP)
WRITE(2,8100) JZAI(K),CCOM(K),CMPRS, HICMP
8100 FORMAT(1H ,'Day, Mea, Cal, Dif = ',15,3F12.5)
8000 CONTINUE
C
CLOSE(1)
CLOSE(2)

STOP
END

SUBROUTINE GAUSS(M,A,B)
REAL*8 A(6,6),B(6)

FIhkhkkhkkhkhhkkhkkrkrhkhkkikkikhhkhkkikhhhkkhkikhhkiiikixkx

* FORWARD ELIMINATION *

F*hkhkkkhkhhkkkhkhhkhkkhkhdhhhkkhkhhhkkkrdhhkhkiihikkx

OO0 0O0

M1=M-1
DO 10 1=1,M1
11=1+1
DO 20 J=I11,M
AA=AJ, /AL
B(J)=B(J)-AA*B(l)
DO 30 K=11,M
A(J,K)=AJ,K)-AA*A(I,K)
30 CONTINUE
20 CONTINUE
10 CONTINUE

Fhkhkhkkhhhkkkrkrhkhkkikidhhkhkrkhhhikidhhhkikihkhikidxx

* BACKWARD SUBSTITUTION *
B R R R R R R R R R R R R R R R R b b
B(M)=B(M)/A(M,M)
DO 40 K=M-1,1,-1
T=B(K+1)
DO 50 J=1,K
B(J)=B(J)-A(J,K+1)*T
50 CONTINUE
B(K)=B(K)/A(K,K)
40 CONTINUE

o000

C
RETURN
END
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